Maths for week beginning 18th January

Please complete the daily work and send a
copy/picture to your teacher.

5L Miss Langoo at
elangoo@kingsavenue.lambeth.sch.uk

4/5/W Mrs Williams (formally Duke) at
Jduke@kingsavenue.lambeth.sch.uk



mailto:elangoo@kingsavenue.lambeth.sch.uk
mailto:jduke@kingsavenue.lambeth.sch.uk

Answers are now at the end of the lesson. Please use these
after you have completed the work.

If you are struggling with any of the questions, please email your
teacher and they will help you. If very difficult, please inform
your teacher and it will be addressed in the weekly zooms.



Monday 18th January 2020

LO: To divide with remainders using
short division



AAAAAAAAAAAN

L= - - - - - - - -

Ax 2x 3x bex 5x

xA4=4 2x4=2 I xA4=3 bxd4d==4 S§xA4=5
% 2=2 2.2 = A I x2=6 bx 2=28 5x 2 =40
x 3 =3 2:%:3. =6 I x3=239 b x 3 =42 5§ x 3 =45
X & =4 2x 4=28 I x 4 =42 hx & =46 5§ x 4 =20
x5 =5 2x 5 =40 3 x 5=45 b x 5 =20 5§ x 5= 25
x 6=6 2x 6 =42 I x 6 =48 hx 6 =24 5x 6 =230
x¥=72 2x 7% =44 I x F =24 bx ¥ =28 5§ x ¥ =35
x 8=28 2x 8= 46 I x 8= 24 b x 8 = 32 5x 8=40
x 9=29 2x 9 =48 3 x 9 =27 4 x 8 = 36 5 x 9 = 45
x40 = 40 2 x40= 20 3 x40= 30 4 x40 = 40 5 x40= 50
6x Fx 8x 9x 410x

x4 =6 FTxA4A=7% Ex4=8 §x4=98 40 x 4 =40
x 2 =42 T x 2 =44 8 x 2 =46 9 x 2 =48 A0 x 2 =20
x 3 =48 Fx 3 =24 8 x 3 =24 8 x 3 =27 40 x 3 =30
x b =24 T x 4 =28 8 x 4 = 32 8 x 4 =36 A0 x & =40
x 5§ =30 Fx 5=35 8§ x 5 =40 9 x 5 =45 40 x 5 =50
x 6 =36 FTx 6 =42 8 x 6 =48 8§ x 6 =54 40 x 6 =60
x ¥ =h2 Fx T =43 8 x ¥F=56 I x ¥F=63 410 x ¥ =70
x 8 =48 ¥x 8=56 8 x 8 =64 9 x 8=%F2 40 x 8 =80
X 8 =54 ¥Fx 9=63 &8 x 8 =72 9 x 9 =284 40 x § =80
x40=60 ¥Fx40=730 8 x40=80 § x40=380 40 x40 = 400



January

12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Arithmetic

i - e - ——
..

) Use the diagram to work out IS X |9

X110 ] 5

10

q

2)  Multiply 32 by 5

3)  What is the perimeter of a rectangle that
has length 8 cm and width 3 cm?

Y) What is the value of 6 in the number 16,4127



Please watch the below clip for support with this lesson
https://vimeo.com/492054148

DIVIDE WITH

REMAINDERS



https://vimeo.com/492054148

Here's a step-by-step guide to the bus stop method:

362 =7 = Strategy

51r5
713 6™

362+ 7=51r5

| start by thinking about whether 7 will go into 3.

It doesn't, so | think about whether 7 will go into 36. It goes 5 times to make 35. | put the 5 over the 6.

There is a remainder of 1, so this 1 goes next to the 2 to make 12.

| know that 7 goes into 12 once and there is a remainder of 5, so | write 1 over the 2 and put 'R 5' at the end.



Task 1 . Here is a method to solve 4,894 divided by 4 using place value
— counters and short division.
Give this a try ©0||(©0)| 00| (00
Q9 @0 | OO %%
Check your answers with a F‘E @@ il Il ‘3
calculator e | QO ,8—& 4 | 48|94 2
O/
00
00
Mathematical Talk Use this method to calculate:
6,613 +5 2471+ 3 9,363 + 4

If we can’t make a group in this column, what do we do?

What happens if we can’'t group the ones equally?
In this number story, what does the remainder mean?
When would we round the remainder up or down?

In which context would we just focus on the remainder?

I. Muffins are packed in trays of 6 in a factory.
In one day, the factory makes 5,623 muffins.
How many trays do they need?

How many trays will be full?

Why are your answers different?




Task 2

o a) Circle the groups of 3 to help complete the sentences

and calculation.

The first step has been done for you.

Th

&

00|00
o |00
00

There is E group of 3 thousands.

There are D groups of 3 hundreds.

There is [:] group of 3 tens.

There are [:] groups of 3 ones.

There are D ones left over.

3938+:3= : remainder D

Th

H

T

b) Use place value counters to work out 8,407 + 4

e

alo|7
8,407 =4 = l:l remainder D
e a) Complete the divisions.
Use place value counters to help you.
3121 51915 4|8(5|6 |7
s|6/5|62 3[3/9[3]s

b) Write <, > or = to complete the statements.

7,595 +3

6,562 = 5

O
O

8,567 = 4

39353




Tas k 3 o Write the calculations in the correct column of the table.

5,066 + 4 9513+ 4 12344
6,562 + 4 6,563 + 4 9515+ 4
Remainder of 1 | Remainder of 2 | Remainder of 3 | Remainder of 4

Are any columns empty? Talk to a partner about why this

has happened.

o 7,816

7,861

6,781

1,786

Is Eva correct?

Hoaw da 13t baow?

I know that if I divide
these numbers by 5 the
remainder will be 1

c There are 459 children in a school.
They are sitting at tables in groups of 7

We will need
65 tables.

Do you agree with Mo? ___

Explain your answer.

e Bags of crisps are put into multipacks of 6
The multipacks are then packed into boxes of 8
Yesterday, 6,500 bags of crisps were packed.

How many boxes of crisps were packed?

[ ]

a) How many ways can you complete the calculation using all the
digit cards so that there is a remainder of 1?

b) What do you notice?

o Dora is thinking of @ number between 500 and 600

When she divides it by a 1-digit number it has a remainder of 4

What could Dora’s number be?



Reasoning and Problem Solving

| am thinking of a 3-digit number.

i When it is divided by 9, the
remainder is 3

"\

[ When it is divided by 2, the

L remainder is 1

~

f When it is divided by 5, the
remainder is 4

Y

J

What is my number?

Tosks N

7

~

Always, Sometimes, Never? 4 )

A three-digit number made of
consecutive descending digits
divided by the next descending digit
always has a remainder of 1

765 + 4 =191 remainder 1

How many possible examples can you
find?




Arithmetic Anhswers

) Use the diagram to work out 15 X |9

X

10

10

S

q

2)  Multiply 32 by S

3)  What is the perimeter of a rectangle that

160

285

has length 8 cm and width 3 cm?

Y) What is the value of 6 in the number 16,412?

cm

6,000

AT



b) Use place value counters to work out 8,407 + 4

o |O
N fe

m | w T ] \
Task 2 L R -,
Answers o ollleo (eYo) als
00 o0
00 o

o a) Circle the groups of 3 to help complete the sentences a/ J
gl cciculation. 8407 +4=| 2 |0 |remainder
The first step has been done for you.

= -
-f. O \ | [1(3[1[a]2l

! _— e a) Complete the divisions.
0 3 ] 3/9(3 8 g

Use place value counters to help you.

312 211
3[7]'s[9]s als s
There is B group of 3 thousands. 1 . 1
There are groups of 3 hundreds.
Thereismgroup of 3 tens. ol ERAY 1 1 T 200 PR S R B R T PR B 8P
113(1121a 113 Lie2
There are groups of 3 ones. U Elg.i j ‘ 2, i - E,Iig E !

There are ones left over.
b) Write <, > or = to complete the statements.
3938+:3=| |, 311 |remainder ) Pl

7,595 +3 @ 8567 = 4
6,562+ 5 @ 39353



o Write the calculations in the correct column of the table.

Task 3
Answers

5,066 =

a 95134

6,562 +

4 6,563 = 4

1,234 - 4

95154

Remainder of 1

Remainder of 2

Remainder of

3 | Remainder of 4

Q5184 §066+ 4y 6SL3 -y
6562 4y 95154
1,234 44

Are any columns empty? Talk to a partner about why this

has happened.

7,816

7,861

6,781

1,786

I know that if I divide
these numbers by 5 the
remainder will be 1

Is Eva correct? 160

How do you know?

e There are 459 children in a school.

They are sitting at tables in groups of 7

We will need
65 tables.

Do you agree with Mo? _NO

Explain your answer.

e Bags of crisps are put into multipacks of 6

The multipacks are then packed into boxes of 8
Yesterday, 6,500 bags of crisps were packed.

How many boxes of crisps were packed?

135

a) How many ways can you complete the calculation using all the
digit cards so that there is a remainder of 1?

Eq 3252 = 8\ )

b) What do you notice?

o Dora is thinking of a number between 500 and 600

When she divides it by a 1-digit number it has a remainder of 4

What could Dora’s number be?




Reasoning and Problem Solving

| am thinking of a 3-digit number.

remainder is 3

( P &
When it is divided by 9, the

J

[ When it is divided by 2, the
remainder is 1

\

(When it is divided by 5, the
remainder is 4

\

|

What is my number?

Task 4 ANSWERS

Possible answers:

129 219
309 399
489 579
669 759
849 939
Encourage
children to think
about the

properties of
numbers that work
for each individual
statement.

This will help
decide the best
starting point.

Always, Sometimes, Never?

A three-digit number made of
consecutive descending digits
divided by the next descending digit
always has a remainder of 1

765 + 4 =191 remainder 1

How many possible examples can you
find?

Sometimes

Possible answers:

432 -1=432r0
943 +-2=271r1
654 +-3=218r0
765 +4=191r1
876 +5=175r1
987 +-6=164r3



Tuesday 19th January 2020
LO: To understand fractions (RECAP)



AAAAAAAAAAAN

L= - - - - - - - -

Ax 2x 3x bex 5x

xA4=4 2x4=2 I xA4=3 bxd4d==4 S§xA4=5
% 2=2 2.2 = A I x2=6 bx 2=28 5x 2 =40
x 3 =3 2:%:3. =6 I x3=239 b x 3 =42 5§ x 3 =45
X & =4 2x 4=28 I x 4 =42 hx & =46 5§ x 4 =20
x5 =5 2x 5 =40 3 x 5=45 b x 5 =20 5§ x 5= 25
x 6=6 2x 6 =42 I x 6 =48 hx 6 =24 5x 6 =230
x¥=72 2x 7% =44 I x F =24 bx ¥ =28 5§ x ¥ =35
x 8=28 2x 8= 46 I x 8= 24 b x 8 = 32 5x 8=40
x 9=29 2x 9 =48 3 x 9 =27 4 x 8 = 36 5 x 9 = 45
x40 = 40 2 x40= 20 3 x40= 30 4 x40 = 40 5 x40= 50
6x Fx 8x 9x 410x

x4 =6 FTxA4A=7% Ex4=8 §x4=98 40 x 4 =40
x 2 =42 T x 2 =44 8 x 2 =46 9 x 2 =48 A0 x 2 =20
x 3 =48 Fx 3 =24 8 x 3 =24 8 x 3 =27 40 x 3 =30
x b =24 T x 4 =28 8 x 4 = 32 8 x 4 =36 A0 x & =40
x 5§ =30 Fx 5=35 8§ x 5 =40 9 x 5 =45 40 x 5 =50
x 6 =36 FTx 6 =42 8 x 6 =48 8§ x 6 =54 40 x 6 =60
x ¥ =h2 Fx T =43 8 x ¥F=56 I x ¥F=63 410 x ¥ =70
x 8 =48 ¥x 8=56 8 x 8 =64 9 x 8=%F2 40 x 8 =80
X 8 =54 ¥Fx 9=63 &8 x 8 =72 9 x 9 =284 40 x § =80
x40=60 ¥Fx40=730 8 x40=80 § x40=380 40 x40 = 400



January

12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Arithmetic Year5 Week2 Day?2

Work out 24 X I3
A bus carries 46 passengers.

There are 3 full buses.

How many passengers in total?
What is 150 =+ 3?

What is 1,500 = 3?




Please watch video to support lesson
https://vimeo.com/498327271

WHAT IS A FRACTION? .



https://vimeo.com/498327271

Whit s 1 Fraction?

Part of a A number that expresses
whole equal parts of a whole
object or set of objects.

Strategy

y !
3 g 7 part

whole

¥
2

Parts of a fraction:
ﬂ] <« NU merdi’or= how many fraction pieces you have 3

; / E “denomin(]'l'or= how many fraction pieces

*d = down your whole is broken into

fraction bar
*represents division

. halves, thirds, fourths, fifths,
KEY WORDS: sixths, sevenths, eighths, etc.

Different Ways to Represent a Fraction

Part of a Group Number Line

0O ._ L
oo H

Fraction Bar Fraction Circle

©Kristine Nannini www.youngteacherlove.blogspot.com



. Here are 9 cards.

Sort the cards into different groups.
Can you explain how you made your decision?
Can you sort the cards in a different way?

Task 1

3 3

5 EERN 4
Three 8 @
fifths PY m
(8]0 o 0

Mathematical Talk

How can we sort the fraction cards?
What fraction does each one represent?
Could some cards represent more than one fraction? 4

15 : :
Is = an example of a non-unit fraction? Why?

Using Cuisenaire, how many white rods are equal to an orange
rod? How does this help us work out what fraction the white rod
represents?




Task 2

o What fraction of each shape is shaded?

VAV VAN

a)

b)

|

|

4]

d)

° Shade each diagram to represent the fractions.

X
0

O |-

o|wn

<)

Wh|te
Rwo

own

w|wn

o Circle the unit fractions.

-
o

1 3
5 5

wiNn
I

1 1
3 8

-
-

How do you know which are unit fractions?

o a) Tick the shapes with one third shaded.

o a2

; NONORRY

0
° ._

b) Complete the sentences to describe the shapes with
one third shaded.

There are D equal parts altogether.
D out of D equal parts is shaded.
| | of the shape is shaded.



° Draw an arrow to show the position of the fraction on the
number line.

|-
p—
s
. .
——
i O

Task 3| »

0 1
3 L 1 | | | |
b)E I 1 T T I 1
0 1
1 | | | |
95 il 1 1 i 1
0 1

1
DR . | . } 5 {
0 1

What do you notice?

@)

o Draw four different representations of %

p ~\

4

° Amir has drawn some 2D shapes.

. mm|[|®s

a) What fraction of the shapes are triangles?

b) What fraction of the shapes are squares?

¢) What fraction of the shapes have four sides?

d) Draw 2D shapes to match the description.

% are squares, % are triangles, % have more than 3 sides.

Compare shapes with a partner.

What is the same about your shapes? Is anything different?




Reasoning and Problem Solving

Always, Sometimes, Never?

Alex says,

If | split a shape
into 4 parts, |
have split it into
quarters.

Explain your answer.

Task 4

. ; 4,
Which representations of s are incorrect?

¢ -
-‘:J l“‘ﬁé“‘
4 "?z(
5

Q0O
OO
O

&)

Explain how you know.




Arithmetic answers

— T .- — -_—

) Work out 24 X I3 312

2) A bus carries 46 passengers.
There are 3 full buses. 138

How many passengers in total?
3)  Whatis IS0 = 3? 50

4Y)  What is ,500 =+ 3? 000




Task 2 answers

o What fraction of each shape is shaded?
a) <)

|~

b) d)

Iip_l

e Shade each diagram to represent the fractions.

a) <)

1
6

®
O
©

Whlte

£lw

wE

®|wn

o|n

o Circle the unit fractions.

® ® :+ @

How do you know which are unit fractions?

win
l2

-
-

o a) Tick the shapes with one third shaded.

&E!F—‘Jn

el

b) Complete the sentences to describe the shapes with
one third shaded.

There are equal parts altogether.

‘I’ out of equal parts is shaded.
!
of the shape is shaded.



Ta$ k 3 a nswe rs_ raction on the

1 | | | 1 |
9% | T T 1
0 | 1
|
-
3 1 l | | ] |
b) =
5 1 1 T 1
o y
1 | | | |
95 | 1 1 i 1
0 T 1
2
1
@93 | t 1 t } 5 {
0 3 1

Col~

o Draw an arrow to show the position of % on the number line.

Vv

U\

1 | | | | 1
1 I | I 1 |
0 1

What do uni notica?

Y

N

o Draw four different representations of %

Voarioun anowers ¢.9Q

[=
v

1
1

o Amir has drawn some 2D shapes.

B mm| | ®a

a) What fraction of the shapes are triangles?

b) What fraction of the shapes are squares?

[ ][]

¢) What fraction of the shapes have four sides?

I wie

d) Draw 2D shapes to match the description.

% are squares, % are triangles, % have more than 3 sides.

Compare shapes with a partner.

What is the same about your shapes? Is anything different?



Always, Sometimes, Never?

Alex says,

If | split a shape
into 4 parts, |
have split it into
quarters.

Explain your answer.

Reasoning and Problem Solving

Task 4 answers

Sometimes

If the shape is not
split equally, it will
not be in quarters.

. ; o
Which representations of E are incorrect?

| &

Explain how you know.

J

‘—nf

=i
L

Q0O
OO
O

The image of the
dogs could

2. .03
represent— or—
] 2D

=)
o)W

The bar model is
not divided into
equal parts so this
does not represent

nje




Wednesday 20th January 2020
LO: Understanding equivalent fractions
(recap)



AAAAAAAAAAAN

L= - - - - - - - -

Ax 2x 3x bex 5x

xA4=4 2x4=2 I xA4=3 bxd4d==4 S§xA4=5
% 2=2 2.2 = A I x2=6 bx 2=28 5x 2 =40
x 3 =3 2:%:3. =6 I x3=239 b x 3 =42 5§ x 3 =45
X & =4 2x 4=28 I x 4 =42 hx & =46 5§ x 4 =20
x5 =5 2x 5 =40 3 x 5=45 b x 5 =20 5§ x 5= 25
x 6=6 2x 6 =42 I x 6 =48 hx 6 =24 5x 6 =230
x¥=72 2x 7% =44 I x F =24 bx ¥ =28 5§ x ¥ =35
x 8=28 2x 8= 46 I x 8= 24 b x 8 = 32 5x 8=40
x 9=29 2x 9 =48 3 x 9 =27 4 x 8 = 36 5 x 9 = 45
x40 = 40 2 x40= 20 3 x40= 30 4 x40 = 40 5 x40= 50
6x Fx 8x 9x 410x

x4 =6 FTxA4A=7% Ex4=8 §x4=98 40 x 4 =40
x 2 =42 T x 2 =44 8 x 2 =46 9 x 2 =48 A0 x 2 =20
x 3 =48 Fx 3 =24 8 x 3 =24 8 x 3 =27 40 x 3 =30
x b =24 T x 4 =28 8 x 4 = 32 8 x 4 =36 A0 x & =40
x 5§ =30 Fx 5=35 8§ x 5 =40 9 x 5 =45 40 x 5 =50
x 6 =36 FTx 6 =42 8 x 6 =48 8§ x 6 =54 40 x 6 =60
x ¥ =h2 Fx T =43 8 x ¥F=56 I x ¥F=63 410 x ¥ =70
x 8 =48 ¥x 8=56 8 x 8 =64 9 x 8=%F2 40 x 8 =80
X 8 =54 ¥Fx 9=63 &8 x 8 =72 9 x 9 =284 40 x § =80
x40=60 ¥Fx40=730 8 x40=80 § x40=380 40 x40 = 400



January

12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Multiply 34 by 27

A book costs fl9
How much do 9 books cost?

Complete the sentence.

8 is a factor of

What is 48 = 3?

Year5 Week2 Day3




Please watch video for support with lesson
https://vimeo.com/498327458

EQUIVALENT

FRACTIONS (1)



https://vimeo.com/498327458

Equivalent Fractions have the same value, even though they may look different.

These fractions are really the same:

Strategy 1., 2 .4

Why are they the same? Because when you multiply or divide both the top and bottom by the
same number, the fraction keeps it's value.

The rule to remember is:

"Change the bottom using multiply or divide,
And the same to the top must be applied”

Here is why those fractions are really the same:

x2 X2
PN ™



. How many fractions that are equivalent to one half can you see

on the fraction wall?

Draw extra rows to show other equivalent fractions.

TASK 1

. Use two strips of equal sized paper.

how many eighths can you see?
How many eighths are equivalent to one quarter?
Which other equivalent fractions can you find?

Mathematical Talk

Look at the equivalent fractions you have found.
What relationship can you see between the numerators and
denominators? Are there any patterns?

Can a fraction have more than one equivalent fraction?

Fold one strip into quarters and the other into eighths.
Place the quarters on top of the eighths and lift up one quarter;




TASK 2

o Shade the bar models to represent the equivalent fractions.

a) 1 1
7 7
N
6 6 6 6 6 6
b) 1 1
7 2
E RN ER R EREEES
10/10({10(10|10(10|10[10]|10|10
T I N
5 5 5 5
T A W O Y T [ B
10(10/10|10(10|10(10]|10|10]| 10
dfsTyTelalslzTa
8 8 8 8 8 8 8 8
T T 1 1
4 4 4 4

| —

nN|—

v

w|on

o w

3l

Ble

&jw

e Use the fraction wall to complete the equivalent fractions.

1 1
2 73
1 1 Ak 1

D “: ¥ ‘~‘ ‘ 9 .‘

T |3 T | 3| 3
o3 R
szl a1l

2 8 2 4 8

o a) Label the fractions on the fraction wall.

1

l |
I I

b) Use the fraction wall to complete the equivalent fractions.




° Here is a fraction wall. o Are the statements always, sometimes or never true?

% % Circle your answer.
TAS K 3 ¥ it 1 Draw a diagram to support your answer.
3 3 3
1 1 1 1 a) The greater the numerator, the greater the fraction.
a a T a
always sometimes never
A, 1 i 1 L -
5 5 5 5 5
4L L 2l 1 0k 1
6 6 3 6 6 6
Is each statement true or false? Tick your answers.
True False
a) _;.is equivalent to% [:] D b) Fractions equivalent to one half have even numerators.
always sometimes never
b) % is equivalent to % [l O }
2. . 3
©) 7 s equivalent to = O O
d) 2 is equivalent to & [l O
3 5 ¢) If a fraction is equivalent to one half, the denominator will
be double the numerator.
e) % is equivalent to % D [:] always sometimes never
 [— 4
f) £ is equivalent to 2 [l O

Write your own equivalent fractions statements.

Ask a partner to say if they are true or false. @



Reasoning and Problem Solving TASK 4

How many equivalent fractions can you / \ Ron has two strips of the same sized
see in this picture? paper.
He folds the strips into different sized
fractions.

He shades in three equal parts on one
strip and six equal parts on the other
strip.

The shaded areas are equal.

What fractions could he have folded his
strips into?

Eva says, B
| know that . is

: 3
f equivalent to = because
@ the numerators are the

same.

Is Eva correct?
Explain why.




Arithmetic answers

))

2)

3)

H)

Multiply 34 by 27 918

A book costs fl9

€171
How much do 9 books cost?
Complete the sentence.
8 is a factor of .. eg 16, 24..

What is 48 = 37 16




Task 2 answers

o Shade the bar models to represent the equivalent fractions.

a) 1 1
3 7
1.3
A 1 [ 11 -
[ 6 6 6 6 6
b) i 1
2 2
e 3
Y3 P2 2 % I
1Mooy 10110|110|10|10(10| 10
A r7vrr 227 2777% 7 AR
5 5 5
4_8
7 P I s e I
104110410 |10| 1010 )10|10|10]| 10
Vo iabei a1 1
8 8 8 8 8 8 8
—6-‘:1
v X X 1 il
4 4 4 4

4

o Use the fraction wall to complete the equivalent fractions.

I -z
2 2
3 2 2k 1
4 4 4 4
oli 513 SR S5 1 4 X 35
8 8 8 8 8 8 8 8
s
itk b T | =l
o>="2 9% 9=F "3
o e 2 2
b)5=T d)§=T f)3=—4_.=-—8—-
o a) Label the fractions on the fraction wall.
1
1 1 ] ] L I 1
6 3 % 3 6 6
IEIEIEIENETEIEIE
\ 9 9 q q q q 1 9




o Here is a fraction wall.

Task 3

answers

1: : 3
a) — is equivalent to =
)2 % 6

a5 1
2 2
1 X X
3 3 3
2L 2L 1 b
4 4 4 4
b 35 A5 L L
5 5 5 5 5
% X 2 X o X
& [ & 6 &
Is each statement true or false? Tick your answers.
False

b) 2 equivalent to El
3 4

<) %— is equivalent to %

d) % is equivalent to %

e) % is equivalent to %

3 is equivalent to 4
f 5 e 6

DQ\D S RE
SRE EJ\D S

Write your own equivalent fractions statements.

Ask a partner to say if they are true or false.

° Are the statements always, sometimes or never true?

Circle your answer.
Draw a diagram to support your answer.

a) The greater the numerator, the greater the fraction.

always never
e 3 .

4 o 1 2
s &3 775
8uUT

77,08 1 1 /| W

b) Fractions equivalent to one half have even numerators.

always never

g
-'; (odd numerorr) [/ﬂl l
L (even nument) @__V/ZIZD

) If a fraction is equivalent to one half, the denominator will
be double the numerator.

_@ sometimes never
I, 1

No mather hewo Pofb'\x.'a_s?\'gt inko, the numbe’
Shodsd (numeotr) will de haly Be botal s (denominolr)

\




Reasoning and Problem Solving

How many equivalent fractions can you

see in this picture?

Eva says,

B

3.
| know that 7is

: 3
equivalent to = because
the numerators are the

same.

Is Eva correct?
Explain why.

Children can give
a variety of
possibilities.
Examples:

N |
[
N

Eva is not correct.
§|s equivalent to%
When the
numerators are
the same, the
larger the
denominator, the
smaller the
fraction.

TASK 4 Answers

Ron has two strips of the same sized
paper.

He folds the strips into different sized
fractions.

He shades in three equal parts on one
strip and six equal parts on the other
strip.

The shaded areas are equal.

What fractions could he have folded his
strips into?

Ron could have
folded his strips
into sixths and
twelfths, quarters
and eighths or any
other fractions
where one of the
denominators is
double the other.



Thursday 21st January 2020
LO: To find equivalent fractions



AAAAAAAAAAAN

L= - - - - - - - -

Ax 2x 3x bex 5x

xA4=4 2x4=2 I xA4=3 bxd4d==4 S§xA4=5
% 2=2 2.2 = A I x2=6 bx 2=28 5x 2 =40
x 3 =3 2:%:3. =6 I x3=239 b x 3 =42 5§ x 3 =45
X & =4 2x 4=28 I x 4 =42 hx & =46 5§ x 4 =20
x5 =5 2x 5 =40 3 x 5=45 b x 5 =20 5§ x 5= 25
x 6=6 2x 6 =42 I x 6 =48 hx 6 =24 5x 6 =230
x¥=72 2x 7% =44 I x F =24 bx ¥ =28 5§ x ¥ =35
x 8=28 2x 8= 46 I x 8= 24 b x 8 = 32 5x 8=40
x 9=29 2x 9 =48 3 x 9 =27 4 x 8 = 36 5 x 9 = 45
x40 = 40 2 x40= 20 3 x40= 30 4 x40 = 40 5 x40= 50
6x Fx 8x 9x 410x

x4 =6 FTxA4A=7% Ex4=8 §x4=98 40 x 4 =40
x 2 =42 T x 2 =44 8 x 2 =46 9 x 2 =48 A0 x 2 =20
x 3 =48 Fx 3 =24 8 x 3 =24 8 x 3 =27 40 x 3 =30
x b =24 T x 4 =28 8 x 4 = 32 8 x 4 =36 A0 x & =40
x 5§ =30 Fx 5=35 8§ x 5 =40 9 x 5 =45 40 x 5 =50
x 6 =36 FTx 6 =42 8 x 6 =48 8§ x 6 =54 40 x 6 =60
x ¥ =h2 Fx T =43 8 x ¥F=56 I x ¥F=63 410 x ¥ =70
x 8 =48 ¥x 8=56 8 x 8 =64 9 x 8=%F2 40 x 8 =80
X 8 =54 ¥Fx 9=63 &8 x 8 =72 9 x 9 =284 40 x § =80
x40=60 ¥Fx40=730 8 x40=80 § x40=380 40 x40 = 400



January

12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Arithmetic

) Work out 262
2) What is £5 X I13?

3)  Which has the greater area?

S cm 6 cm

4)  Put these lengths in ascending order.

350 metres % metre 3 km

Year5 Week2 Day4




Equivalent Fractions have the same value, even though they may look different.

These fractions are really the same:

Strategy 1., 2 .4

Why are they the same? Because when you multiply or divide both the top and bottom by the
same number, the fraction keeps it's value.

The rule to remember is:

"Change the bottom using multiply or divide,
And the same to the top must be applied”

Here is why those fractions are really the same:

x2 X2
PN ™



Please watch video for support https://vimeo.com/498327611

EQUIVALENT

FRACTIONS



https://vimeo.com/498327611

Task 1

Mathematical Talk

What equivalent fractions can we find by folding the paper?
How can we record these?

What is the same and what is different about the numerators
and denominators in the equivalent fractions?

How does multiplication and division help us find equivalent
fractions? Where can we see this in our model?

. Take two pieces of paper the same size.
Fold one piece into two equal pieces.
Fold the other into eight equal pieces.
What equivalent fractions can you find?

|
[=+] B

Use the models to write equivalent fractions.

2
q

' Eva uses the models and her multiplication and division skills to
find equivalent fractions.

Use this method to

_ — /\ fmdequwalent

= fractions to - - and -
4 16 i yy
X 4

where the
denominator is 16

Eva uses the same approach to find equivalent fractions for these
fractions. How will her method change?

- 6. .0

12 3 12 4 12 2




Task 2

Equivalent fractions

0 Shade the shapes to show the equivalent fractions.

a)

b)

<)

d)

° Draw two rectangles to show that

X
3

NS

e a) Sort the fractions into the groups.

Equivalent to % Equivalent to -;—
S22 |2]14]2
15 6 12 24 24 20 12 8

b) Write one more fraction in each group.

o Complete the equivalent fractions.

1 D 3 10
a) 7=T d) z: 6 9) 2 =E
b) %=% e) %: 12 h) 2 =§

)
|~
n

e
N
]
&lw
1
-~
~N|N
e

j) Describe the pattern in part g), h) and i) to a partner.



e Find three ways to make the fractions equivalent. O’ o Here are some equivalent fractions.

Find the values of A, B and C.
o doerde Wi o [ [ |
7 14

; T I __1a All3 |2
Task3 | T3 A oi] [m] [fom

L]
oo oo - I

v gt " . 1
e Ron is finding equivalent fractions to 7 o Here are three fraction cards.

All the fractions are equivalent.

% is equivalent to %

q
and 3

=5 S
A

Do you agree with Ron?

Draw a diagram to support your answer. @ A+B=13
Work out the value of C.

0.
S 1+@®

Find the value of @

Compare answers with a partner. @



Reasoning and Problem Solving Task 4 —

Rosie says, / \ Ron thinks you can only simplify even / \
To find equivalent numbered fractions because you keep on
fractions, whatever you halving the numerator and denominator
do to the numerator, until you get an odd number.
you do to the
=2 denominator. Do you agree?

Explain your answer.

Using her method, here are the

equivalent fractions Rosie has found for% Here are some fraction cards.
All of the fractions are equivalent.
& B S X
8 16 8 10 4 B 20
4 2 4 1 —_ — —
8 4 8 5 \_ J A G 50 \ J

Are all Rosie’s fractions equivalent?
Does Rosie’s method work? A+B=16
Explain your reasons. Calculate the value of C.



Arithmetic answers

) Work out 262 676

2)  Whatis £5 X 13? 65

3)  Which has the greater area?

S cm 6 cm

Y) Put these lengths in ascending order. |
| 2
350 metres 5 metre 3 km S s ‘

metre, 350 metres,



Task 2 Anhswers

o a) Sort the fractions into the groups.

Equivalent to %— Equivalent to -;—

° Shade the shapes to show the equivalent fractions.

NN

N

!

\

AN

O
&
N\

N

X

M

Ny

e T
72;? AvA7AA

®|N

I
a|N
I
I
I
I

-
~
N
a
N
&
N
=1
-
NI“

b) Write one more fraction in each group.

o Complete the equivalent fractions.

u)l: d3-_6_ g) —2-=10
b)i_ o) 312 h) 2250010
7 14 &] 5] 25

@ L8 ) §= p 2-_10
- 8 a 12 7

j) Describe the pattern in part g), h) and i) to a partner.



Task 3

Answers

o Find three ways to make the fractions equivalent.
e

3

=2 AR [
oty voory ¢ LG
SRy SR | 1
[I] “T1a

> =

[2] [a)
7 14

| I |

foc
[0oo] ™ el

7 MR L)

o Ron is finding equivalent fractions to %

1 is equivalent to 2

4 q

Do you agree with Ron? &0

Draw a diagram to support your answer.

11 (e

B
N
B
E

5

Compare answers with a partner.

)

Y

° Here are some equivalent fractions.

Find the values of A, B and C.

w|w
e
(-]
8ln

o Here are three fraction cards.

All the fractions are equivalent.

A+B=13

Work out the value of C.

0
5 1+9

Find the value of @



Reasoning and Problem Solving Task 4 Answers -

1

Rosiersays, == Zand-= — Ron thinks you can only simplify even Ron is wrong. For
To find equivalent ;re ihgcorregt. 4 numbered fractions because you k_eep on | example é) can be
fractions, whatever you halving the numerator and denominator simolifict to 1
do to the numerator, Posics triathod until you get an odd number. 3
you do to the doesn'’t always these are all odd
denominator. work. It works Do you agree? numbers.

when multiplying Explain your answer.

or dividing both

Using her method, here are the G o

equivalent fractions Rosie has found for% denominator but Here are some fraction cards. A=
: All of the fractions are equivalent. B=6
not when adding
2o B 2o B or subtracting the C=15
g e g same thing to 4. B 2 0
4 2 4 1 both. o — _——
8" 4 8 s A C 50

Are all Rosie’s fractions equivalent?
Does Rosie’s method work? A+B=16
Explain your reasons. Calculate the value of C.



Friday 22nd January 2020
LO: To identify fractions greater than 1



AAAAAAAAAAAN

L= - - - - - - - -

Ax 2x 3x bex 5x

xA4=4 2x4=2 I xA4=3 bxd4d==4 S§xA4=5
% 2=2 2.2 = A I x2=6 bx 2=28 5x 2 =40
x 3 =3 2:%:3. =6 I x3=239 b x 3 =42 5§ x 3 =45
X & =4 2x 4=28 I x 4 =42 hx & =46 5§ x 4 =20
x5 =5 2x 5 =40 3 x 5=45 b x 5 =20 5§ x 5= 25
x 6=6 2x 6 =42 I x 6 =48 hx 6 =24 5x 6 =230
x¥=72 2x 7% =44 I x F =24 bx ¥ =28 5§ x ¥ =35
x 8=28 2x 8= 46 I x 8= 24 b x 8 = 32 5x 8=40
x 9=29 2x 9 =48 3 x 9 =27 4 x 8 = 36 5 x 9 = 45
x40 = 40 2 x40= 20 3 x40= 30 4 x40 = 40 5 x40= 50
6x Fx 8x 9x 410x

x4 =6 FTxA4A=7% Ex4=8 §x4=98 40 x 4 =40
x 2 =42 T x 2 =44 8 x 2 =46 9 x 2 =48 A0 x 2 =20
x 3 =48 Fx 3 =24 8 x 3 =24 8 x 3 =27 40 x 3 =30
x b =24 T x 4 =28 8 x 4 = 32 8 x 4 =36 A0 x & =40
x 5§ =30 Fx 5=35 8§ x 5 =40 9 x 5 =45 40 x 5 =50
x 6 =36 FTx 6 =42 8 x 6 =48 8§ x 6 =54 40 x 6 =60
x ¥ =h2 Fx T =43 8 x ¥F=56 I x ¥F=63 410 x ¥ =70
x 8 =48 ¥x 8=56 8 x 8 =64 9 x 8=%F2 40 x 8 =80
X 8 =54 ¥Fx 9=63 &8 x 8 =72 9 x 9 =284 40 x § =80
x40=60 ¥Fx40=730 8 x40=80 § x40=380 40 x40 = 400



January

12 Times tables

12 X0
12 X 1
12 X 2
12 X 3
12 X 4
12 X 5
12 X6
12 X7
12 X 8
12 X9
12 X 10
12 X 11
12 X 12

12
24
36
48
60
72
84
96
108
120
132
144



Week2 Day5

Calculate 132 X H

Find the area of the rectangle
23 cm

Two factors of M are | and M
What are the other 2 factors?

What is the next number?
4,300 14,200 4,100




Please use this video for support with lesson https://vimeo.com/498362964

-

RACTIONS GREATER

THAN |



https://vimeo.com/498362964

Strategy

Fractions Greater Than One
When a frachion \s greater than one

whole, We can write it as either ..
an PROPERS
FEACTION

a Praction whose
humerator 1s qreafcr
han its denominator

ox-L
5
“Seven - thirda"

3 3

— e —— ——

i s T

UL

a Whole number

and a frachon
coMioined into one
wixed numbex

L e
“tWo and one-third”

R

Rec




. Complete the part-whole models and sentences.
There are __ quarters altogether.

___Quarters = whole and quarter.

Task 1




o Complete the sentences. b Shade the bar models to represent the fractions.
Complete the number sentences.
There are 7 fifths altogether. a) 3
3
7 fifths = whole + fifths
% = whole + thirds =
b) &
There are fifths altogether. 3
fifths = wholes +
fifths
% = wholes + thirds =
There are quarters altogether| o) _g_
quarters = wholes +
quarter
% = whole + fifths =




Task 3

o Complete the statements.

a) 12 D wholes e) 5. D wholes
2 3
b) 12 = [:I wholes ) 15= |:| wholes
4 5
<) % = D wholes g) ‘TS = I:‘ wholes + D quarters
d) % = I:l wholes h) % = I:I wholes + |:| half

@ Whitney bakes 26 muffins.
Muffins are packed in boxes of 4

a) How many boxes can Whitney fill?

Whitney can fill D boxes.

b) How many more muffins does Whitney need to fill
another box?
Whitney needs D muffins to fill another box.

Explain how you know.

How does writing % help you to answer this? @

o Write <, > or = to complete the statements.

a) 2 wholes and 3 quarters O 5 quarters

b) 2 wholes and 3 quarters O 15 quarters
<) 2 wholes and 3 sixths O 15 sixths
d) 2 wholes and 3 eighths O 15 eighths
15 15
e) 3 O 33
15 20
" (O

° Complete the part-whole models.

ofs
ote

a) o)

b)




Reasoning and Problem Solving

3 friends share some pizzas.

Each pizza is cut into 8 equal slices.
Altogether, they eat 25 slices.

How many whole pizzas do they eat?

Spot the mistake.

? = 10 wholes and 3 fifths

-

~

Task 4

Rosie says,

Do you agree?
Explain why.

16 . 8
~ Is greater than =

because 16 is greater
than 8




2)

3)

Arithmetic answers

Calculate 132 X M ,848

Find the area of the rectangle
23 cm

2and 7/

Two factors of M are | and M
What are the other 2 factors?

What is the next number?

4,300 14,200 4,100 14,000

13,900




Tas k 2 Answe rs o Shade the bar models to represent the fractions.

Complete the number sentences.

3 [Wpn %777 777
vz 77 |

S irds =
There are 7 fifths altogether. By II' Whom ¥ Sgs = ’
7 fifths = m whole + fifths

o Complete the sentences.

(M3

WS [ 7777 | 777 ]
[“Z2n | 2722 22 2]
\Lzz9m| 7222 |

fifths = wholes + % = wholes + thirds = 3

(M1

(4]

wi|oo

VA Av7Av A Z
zazzatzAmm
There are quarters altogether.

8 i =
quarters = wholes + 5= E' whole + fifths = I
m quarter

(e




Task 3
Answers

o Complete the statements. ° Write <, > or = to complete the statements.

12 . 15
a) == wholes e) == holes
) 2 ) 3 w a) 2 wholes and 3 quarters @ 5 quarters
12 15
b) & o f T VO b) 2 wholes and 3 quarters @ 15 quarters
<) % = wholes g) ‘TS = <) 2 wholes and 3 sixths @ 15 sixths
120 A5 d) 2 wholes and 3 eighths @ 15 eighths
iH 15
e 3 5
@ Whitney bakes 26 muffins. f 15 @ 20

Muffins are packed in boxes of 4

a) How many boxes can Whitney fill?

o Complete the part-whole models.

a) <)
Whitney can fill boxes.
b) How many more muffins does Whitney need to fill
another box?
b)

Whitney needs muffins to fill another box.

Explain how you know.

st

502

How does writing % help you to answer this? @



Reasoning and Problem Solving Task 4 Answers —

3 friends share some pizzas. They eat 3 whole Rosie says, | disagree with
Each pizza is cut into 8 equal slices. pizzas and 1 more " < Rosie because
Altogether, they eat 25 slices. slice. T is greater than & both fractions are
How many whole pizzas do they eat? : because 16 is greater equivalent to 4
@ than 8
Children may
choose to build
Do you agree? both fractions
Explain why. using cubes, or
Spot the mistake. There are 2 draw bar models.

wholes not 10

- - 2 wholes
S

5

13
Er — = 2 wholes
'\&} N

5
and 3 fifths
? = 10 wholes and 3 fifths



